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Translate: move but not change Persemere Multiplying by 10 <% \\
Reflect: Flip over in a given plane 3x7=7x3 Respect  Yp 4 N NS
Coordinates: Across then up X is commutative Communihy ) Ll By 160
Dividing by 10 &7 x>
100,000 | 200,000 | 300,000 | 400,000 | 500,000 | 600,000 | 700,000 | 800,000 | 900,000
10,000 | 20,000 | 30,000 | 40,000 | 50,000 | 60,000 70,000 | 80,000 | 90,000 Dividing by 10047 > &7 x>
1000| 2000| 3000( 4000 5000| 6000| 7000| 8000| 9000 N
100 200 300 400| b500| 600( 700( 800| 900 e.g. 5.6 x 100 = 560.0
1 O 20 30 40 50 60 70 80 90 The Decimal Point Does Not Move!
1 2 3 4 5 6 7 8 9
0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9
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Measurements
1 centimetre (cm) = 10 millimetres (mm) )
1 metre (m) = 100 centimetres Triangle Rectanale Pentaaon Hexagon Octagon
1 kilometre (km) = 1000 metres
Scalene Isosceles Equilateral = ¥
TN [
1 kilogram (kg) = 1000 grams (g) y I \ /
1 tonne = 1000 kilograms W " 5
e el Wk bl W e T A
1 litre (I) = 1000 millilitres (ml) Triangles Based on Angles e ,L_“", 4
1 “TT‘C - looocmz Acute Right Obtuse {1 3}
lcm? = 1 millimetres 3 >
o o
1 hour‘ :60 minuTes Each angle is < 90° One angle is = 90° One angle is > 90° s 1_ 2
1 minute =60 seconds ymmeiry 1 LA
o 1 2 3 3 5 5
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1=-I 5=V 9=IX
2-II 6=VI 10=X Translate: move but not change
3=IIT 7=VII 20=XX Reflect: Flip over in a given plane
4=TV 8=VIII 100=C Coordinates: Across then up




